4 | 3 | 2 | ]
PART NUMBER DESCRIPTION QTY.
988019 SQUARE STAINLESS STEEL DECK .
MOUNT 36" DRILLED TERMINAL POST N
SQUARE LONG NECK FLOOR FLANGE N
731236 FOR STAINLESS STEEL DECK RAIL 2 WV
SYSTEMS-TERMINAL N
31366 STAINLESS SQUARE FIXED RADIUS ) N
TERMINAL POST CAP
231618 2" ROUND TOP RAILFOR2"ROUND SS |
RAILING SYSTEM s |
734756 END CAP FOR ROUND TERMINAL POSTS | 2 |
986244 FACTORY SWAGED ASSEMBLIES 11 |
723708 12-24 X 1/2" FLAT HEAD SCREW 8 Y |
5/16 x 4LG LAG SCREW 5/16 x 4LG LAG SCREW 8 |
731366 f il
q 731618
76.2) 988019 N
3.00 — Ve
CABLE 1/8 TYP. 5/16 x 4LG LAG SCREW
T T v ‘ '
il [ 731236 ~
@. . 36" (11 CABLES) _
1 + 42" (13 CABLES)
Al L ! ,
I I |\ E;j
- 5' MAX - [76'2] NOTES:  UNLESS OTHERWISE SPECIFIED e | TITLE:
3.00 1 QUAL DIMENSIONS SHOWN - DIMENSIONS AREININCHES | DRAWN sce_losoors] - FULL SSQ ASSEMBLY
e T (INLINE)
e L e cl l“orssa | 01
4 3 2 ]




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


